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AEEIE IR 1 |FE = iHE X (ETIER + RIER + AIER + fEER)
6.300 m2 = 0.600 % (4.500 + 0.000 + 0.000 + 6.000)

HAREIR 1 |HE = BEE X (ETER + SR + 3UiiER + EIER)
6.300 m2 = 0.600 * (4.500 + 0.000 + 0.000 + 6.000)

A IH 2 HE = EHE X (ETER + RIER + 3URER + BEER)
6.300 m2 = 0.600 % (4.500 + 0.000 + 0.000 + 6.000)

PEHIE D R L 1 |HE = HHE X JEA X (ETERE + KR + 3UiER + EIER)

2.709 m3 = 0.600 * 0.430 * (4 500 + 0.000 + 0.000 + 6.000)
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T I % E Bt E E (f B % )
RETEEEES : 17000000 #0512 ]
[ T@%s | 02 | Ti#%&% [[AHIHPPE®TS [L-+&E [ o5 | w—r&# [EE #=(H=800))
JETER ER G ML Bl /B =
TR 1 |GREmER: = WEE X B X (LTHER + AIIEE + AIER + MEER)
RN 0.315 m3 = 0.600 * 0.050 * (4.500 + 0.000 + 0.000 + 6.000)
7% LY@ 1 [BR = RN UE 1R
(GBS ) 0.315 m3 = 0.315
TR ] 1 [BcE = meE U8 &
(Hii) 2.709 m3 = 2. 709
7% LY@ o [BE = mEEE LR
(FRHI) 2.299 m3 = 2.299
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T I % E Bt E E (f & x )
RETEEEES © 17000000
[ T@%s | 02 | Ti#%&% [[AHIHPPE®TS - &S | o6 | J—Fr&# [EE #E(H=1200)
JETER El N B S F & =
AEE D)W 1 &= (ETEE + BBV IEER + TR + fEIER) + (FFREIE - @) < FFmR&EITE)) X BRI
54.800 m = ((15.400 + 0.000 + 0.000 + 12.000) + ((0.600 — 0.600) * 0.000)) * 2.000
AEEEH 1 |HE = HEE X (ETIER + KR + sUiiER + fEER)
16. 440 m2 = 0.600 * (15.400 + 0.000 + 0.000 + 12.000)
] 1 [ = IR X B2 X (L TR + RIFEE + AIEE + MELE)
13.645 m3 = 0.600 * 0.830 * (15,400 + 0.000 + 0.000 + 12.000)
HEH 2 |FE = (GRHIE X BA - Fmd) X (LTEE + MEER)) + (RElE X BEdA X (RIBEE + AEER))
6.000 m3 = ((0.600 * 0.370 — 0.003) * (15.400 + 12.000)) + (0.600 * 0.370 * (0.000 + 0.000))
AEEIE IR 1 |FE = iHE X (ETIER + RIER + AIER + fEER)
16. 440 m2 = 0.600 * (15.400 + 0.000 + 0.000 + 12.000)
HAREIR 1 |HE = BEE X (ETER + SR + 3UiiER + EIER)
16. 440 m2 = 0.600 * (15.400 + 0.000 + 0.000 + 12.000)
A IH 2 HE = EHE X (ETER + RIER + 3URER + BEER)
16. 440 m2 = 0.600 * (15.400 + 0.000 + 0.000 + 12.000)
PEHIE D R L 1 |HE = HHE X JEA X (ETERE + KR + 3UiER + EIER)
13.645 m3 = 0.600 * 0.830 * (15.400 + 0.000 + 0.000 + 12.000)
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T T & E ft E & (& B X )
RETEEEES : 17000000 #0512 ]
| TiE®E [ 02 | Ti#E&# [(AFIHPPEQ TS - rES [ 06 | J—r&# [BE #3E(H=1200)
JE TR R G Y N A - -
7% LAY T 1 [SEmEER = WEIE X 22 X (ETHEE + AER + AWERE + MEER)
C 0.822 m3 = 0.600 * 0.050 * (15.400 + 0.000 + 0.000 + 12.000)
75T 1 [ = SR UE &
(GHAEHEH]) 0.822 m3 = 0.822
7% LAy 1|5 = s UE LR
(iit#1) 13.645 m3 = 13.645
7 L5 2[R = mEEYE LR
(iiR#1) 6.000 m3 = 6. 000
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T I % E Bt E E (f & x )
RETEEEES © 17000000
[ T@%s | 02 | Ti#%&% [[AHIHPPE®TS = | 07 | W—r&#% |58 FEAZE(H=800)

JETER El N B S F & =

AEE D)W 1 &= (ETEE + BBV IEER + TR + fEIER) + (FFREIE - @) < FFmR&EITE)) X BRI
2.000 m = ((1.000 + 0.000 + 0.000 + 0.000) + ((0.600 — 0.600) * 0.000)) * 2.000

AEEEH 1 |HE = HEE X (ETIER + KR + sUiiER + fEER)
0.600 m2 = 0.600 * (1.000 + 0.000 + 0.000 + 0.000)

] 1 [ = IR X B2 X (L TR + RIFEE + AIEE + MELE)
0.186 m3 = 0.600 * 0.310 * (1.000 + 0.000 + 0.000 + 0.000)
HEH 2 |FE = (GRHIE X BA - Fmd) X (LTEE + MEER)) + (RElE X BEdA X (RIBEE + AEER))

0.342 m3 = ((0.600 * 0.580 — 0.006) * (1.000 + 0.000)) + (0.600 % 0.580 * (0.000 + 0.000))

AEEIE IR 1 |FE = iHE X (ETIER + RIER + AIER + fEER)
0.600 m2 = 0.600 % (1.000 + 0.000 + 0.000 + 0.000)

HAREIR 1 |HE = BEE X (ETER + SR + 3UiiER + EIER)
0.600 m2 = 0.600 % (1.000 + 0.000 + 0.000 + 0.000)

A IH 2 HE = EHE X (ETER + RIER + 3URER + BEER)
0.600 m2 = 0.600 % (1.000 + 0.000 + 0.000 + 0.000)

PEHIE D R L 1 |HE = HHE X JEA X (ETERE + KR + 3UiER + EIER)

0.186 m3 = 0.600 * 0.310 * (1.000 + 0.000 + 0.000 + 0.000)
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T I % E Bt E E (f B % )
RETEEEES : 17000000 #0512 ]
[ T@%s | 02 | Ti#%&% [[AHIHPPE®TS - &S | 07 | W—r&#% |58 FEAZE(H=800)
JETER El N B S F & =
PEAIE DR L 2 |FE = (ARENE X JBA - B X LTER) + RElE X BEh X (RIEIEE + SIEE + MEEE))
0.198 m3 = ((0.600 * 0.340 — 0.006) * 1.000) + (0.600 * 0.340 * (0.000 + 0.000 + 0.000))
By e 1 |&ERE R = WElE X BA X (ETHER + RIEE + AEE + MEER)
(hm ) 0.030 m3 = 0.600 * 0.050 * (1.000 + 0.000 + 0.000 + 0.000)
7% L5y 8 U [ = giimi s g Lk
GBS ) 0.030 m3 = 0.030
7 LAy 8 1 [H& = meEUs LE
(FRHI) 0.186 m3 = 0. 186
7% L5y 8 2 | = mEEYE LR
() 0.342 m3 = 0.342
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T I % E Bt E E (f & x )
RETEEEES © 17000000
[ T@%s | 02 | Ti#%&% [[AHIHPPE®TS = | 08 | J—r&# [FAiE EAZE(H=1200)

JETER El N B S F & =

AEE D)W 1 &= (ETEE + BBV IEER + TR + fEIER) + (FFREIE - @) < FFmR&EITE)) X BRI
2.000 m = ((1.000 + 0.000 + 0.000 + 0.000) + ((0.600 — 0.600) * 0.000)) * 2.000

AEEEH 1 |HE = HEE X (ETIER + KR + sUiiER + fEER)
0.600 m2 = 0.600 * (1.000 + 0.000 + 0.000 + 0.000)

] 1 [ = IR X B2 X (L TR + RIFEE + AIEE + MELE)
0.426 m3 = 0.600 * 0.710 * (1.000 + 0.000 + 0.000 + 0.000)
HEH 2 |FE = (GRHIE X BA - Fmd) X (LTEE + MEER)) + (RElE X BEdA X (RIBEE + AEER))

0.342 m3 = ((0.600 * 0.580 — 0.006) * (1.000 + 0.000)) + (0.600 % 0.580 * (0.000 + 0.000))

AEEIE IR 1 |FE = iHE X (ETIER + RIER + AIER + fEER)
0.600 m2 = 0.600 % (1.000 + 0.000 + 0.000 + 0.000)

HAREIR 1 |HE = BEE X (ETER + SR + 3UiiER + EIER)
0.600 m2 = 0.600 % (1.000 + 0.000 + 0.000 + 0.000)

A IH 2 HE = EHE X (ETER + RIER + 3URER + BEER)
0.600 m2 = 0.600 % (1.000 + 0.000 + 0.000 + 0.000)

PEHIE D R L 1 |HE = HHE X JEA X (ETERE + KR + 3UiER + EIER)

0.426 m3 = 0.600 * 0.710 * (1.000 + 0.000 + 0.000 + 0.000)
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T I % E Bt E E (f B % )
RETEEEES : 17000000 #0512 ]
[ T@%s | 02 | Ti#%&% [[AHIHPPE®TS - &S | 08 | J—r&# [FAiE EAZE(H=1200)
JETER El N B S F & =
PEAIE DR L 2 |FE = (ARENE X JBA - B X LTER) + RElE X BEh X (RIEIEE + SIEE + MEEE))
0.198 m3 = ((0.600 * 0.340 — 0.006) * 1.000) + (0.600 * 0.340 * (0.000 + 0.000 + 0.000))
By e 1 |&ERE R = WElE X BA X (ETHER + RIEE + AEE + MEER)
(hm ) 0.030 m3 = 0.600 * 0.050 * (1.000 + 0.000 + 0.000 + 0.000)
7% L5y 8 U [ = giimi s g Lk
GBS ) 0.030 m3 = 0.030
7 LAy 8 1 [H& = meEUs LE
(FRHI) 0.426 m3 = 0.426
7% L5y 8 2 | = mEEYE LR
() 0.342 m3 = 0.342
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T I % E Bt E E (f & x )
RETEEEES © 17000000
[ T@%s | 02 | Ti#%&% [[AHIHPPE®TS = [ 09 | W—r&# [EE #HEH (H=1200)
JETER El N B S F & =
AEE D)W 1 &= (ETEE + BBV IEER + TR + fEIER) + (FFREIE - @) < FFmR&EITE)) X BRI
3.000 m = ((1.500 + 0.000 + 0.000 + 0.000) + ((0.600 — 0.600) * 2.000)) * 2.000
AEEEH 1 |HE = HEE X (ETIER + KR + sUiiER + fEER)
0.900 m2 = 0.600 * (L.500 + 0.000 + 0.000 + 0.000)
] 1 [ = IR X B2 X (L TR + RIFEE + AIEE + MELE)
0.522 m3 = 0.600 * 0.580 * (1.500 + 0.000 + 0.000 + 0.000)
HEH| 2 |FE = BHIE X BA X (ETIERE + RIEEE + SBEE + MEER)
0.612 m3 = 0.600 * 0.680 * (1.500 + 0.000 + 0.000 + 0.000)
AEEIE IR 1 |FE = iHE X (ETIER + RIER + AIER + fEER)
0.900 m2 = 0.600 % (1.500 + 0.000 + 0.000 + 0.000)
HAREIR 1 |HE = BEE X (ETER + SR + 3UiiER + EIER)
0.900 m2 = 0.600 % (L.500 + 0.000 + 0.000 + 0.000)
A IH 2 HE = EHE X (ETER + RIER + 3URER + BEER)
0.900 m2 = 0.600 % (L.500 + 0.000 + 0.000 + 0.000)
PEHIE D R L 1 |HE = HHE X JEA X (ETERE + KR + 3UiER + EIER)
0.522 m3 = 0.600 * 0.580 * (1.500 + 0.000 + 0.000 + 0.000)
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T I % E Bt E E (f B % )
RETEEEES : 17000000 #0512 ]
[ T@%s | 02 | Ti#%&% [[AHIHPPE®TS - &S [ 09 | W—r&# [EE #HEH (H=1200)
JETER El N B S F & =
PEAIE DR L 2 |FE = (ARENE X JBA - B X LTER) + RElE X BEh X (RIEIEE + SIEE + MEEE))
0.276 m3 = ((0.600 * 0.310 — 0.002) * 1.500) + (0.600 % 0.310 * (0.000 + 0.000 + 0.000))
By e 1 |&ERE R = WElE X BA X (ETHER + RIEE + AEE + MEER)
(hm ) 0.045 m3 = 0.600 * 0.050 * (1.500 + 0.000 + 0.000 + 0.000)
Ay 1 & = SEEEIE LS L&
GBS ) 0.045 m3 = 0. 045
5y e 1 |BE = HEIEE L&
(i) 0.522 m3 = 0.522
Ay JE 2 |EE = WHIEE LR
() 0.612 m3 = 0.612
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T I % E Bt E E (f & x )
RETEEEES © 17000000
[ T@%= | 03 | TI#@%&% [[AHIHPPEA®S0 L—+&S [ ot | w—r&# [EE 18 H=1880)
JETER ER G ML Bl /B =
AEE D)W 1 &= (ETEE + BBV IEER + TR + fEIER) + (FFREIE - @) < FFmR&EITE)) X BRI
4.000 m = ((2.000 + 0.000 + 0.000 + 0.000) + ((L.500 — 1.500) % 0.000)) * 2.000
AEEEH 1 |HE = HEE X (ETIER + KR + sUiiER + fEER)
3.000 m2 = 1.500 * (2.000 + 0.000 + 0.000 + 0.000)
S 1|5 = AR X B2 X (LTHEE + RIUER + AMIER + WMEER)
3.780 m3 = 1.500 * 1.260 * (2.000 + 0.000 + 0.000 + 0.000)
HEH| 2 |FE = (GRHIE X BA - Fmd) X (LTEE + MEER)) + (RElE X BEdA X (RIBEE + AEER))
2.486 m3 = ((1.500 * 0.830 — 0.002) * (2.000 + 0.000)) + (1.500 % 0.830 * (0.000 + 0.000))
AEAEIE IH 1 |FE = iHE X (ETIER + RIER + AIER + fEER)
3.000 m2 = 1.500 * (2.000 + 0.000 + 0.000 + 0.000)
HAREIR 1 |HE = BEE X (ETER + SR + 3UiiER + EIER)
3.000 m2 = 1.500 * (2.000 + 0.000 + 0.000 + 0.000)
HAREIR 2 HE = EHE X (ETER + RIER + 3URER + BEER)
3.000 m2 = 1.500 * (2.000 + 0.000 + 0.000 + 0.000)
PEHIE D R L 1 |HE = HHE X JEA X (ETERE + KR + 3UiER + EIER)
3.780 m3 = 1.500 * 1.260 * (2.000 + 0.000 + 0.000 + 0.000)
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T T &% E ft E & (f & X )
RETEEEES ;. 17000000[ L 40EEtE]
TEES | 03 | T#E&M  |[KFIHPPEHS0 L—+&S [ oo | —r&% [BE 1% (H=1880)
JE TR R G Y N A - -
PEHBRD R L 2 |HE = (UEAE X B - FmEf) X LTIER) + (EHIE X JER X (RIUER + 3UIEE + fEER))
1.376 m3 = ((1.500 % 0.460 — 0.002) * 2.000) + (1.500 * 0.460 % (0.000 + 0.000 + 0.000))
Bk A5y 1 |AEEE R = HEE X B X (ETER + RIUER + RUUER + WEER)
(PRI 0.150 m3 = 1.500 * 0.050 * (2.000 + 0.000 + 0.000 + 0.000)
7% Ly E U [ = SRR U 1
(GHAEIRH]) 0.150 m3 = 0. 150
7% Ly 1 [ = dmEs UE Lk
(Hii) 3.780 m3 = 3. 780
7% Ly E 2 Mok = ImEIE2E L
CHii) 2.486 m3 = 2. 486
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T I % E Bt E E (f & x )
RETEEEES © 17000000
[ T@%= | 03 | TI#@%&% [[AHIHPPEA®S0 L—+&S [ 02 | w—r&# [BE 918 H=1200)
JETER ER G ML Bl /B =
AEE D)W 1 &= (ETEE + BBV IEER + TR + fEIER) + (FFREIE - @) < FFmR&EITE)) X BRI
4.000 m = ((2.000 + 0.000 + 0.000 + 0.000) + ((L.500 — 1.500) % 0.000)) * 2.000
AEEEH 1 |HE = HEE X (ETIER + KR + sUiiER + fEER)
3.000 m2 = 1.500 * (2.000 + 0.000 + 0.000 + 0.000)
S 1|5 = AR X B2 X (LTHEE + RIUER + AMIER + WMEER)
1.740 m3 = 1.500 * 0.580 % (2.000 + 0.000 + 0.000 + 0. 000)
HEH| 2 |FE = (GRHIE X BA - Fmd) X (LTEE + MEER)) + (RElE X BEdA X (RIBEE + AEER))
2.486 m3 = ((1.500 * 0.830 — 0.002) * (2.000 + 0.000)) + (1.500 % 0.830 * (0.000 + 0.000))
AEAEIE IH 1 |FE = iHE X (ETIER + RIER + AIER + fEER)
3.000 m2 = 1.500 * (2.000 + 0.000 + 0.000 + 0.000)
HAREIR 1 |HE = BEE X (ETER + SR + 3UiiER + EIER)
3.000 m2 = 1.500 * (2.000 + 0.000 + 0.000 + 0.000)
HAREIR 2 HE = EHE X (ETER + RIER + 3URER + BEER)
3.000 m2 = 1.500 * (2.000 + 0.000 + 0.000 + 0.000)
PEHIE D R L 1 |HE = HHE X JEA X (ETERE + KR + 3UiER + EIER)
1.740 m3 = 1.500 * 0.580 % (2.000 + 0.000 + 0.000 + 0. 000)
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T I % E Bt E E (f B % )
RETEEEES : 17000000 #0512 ]
[ T@%= | 03 | TI#@%&% [[AHIHPPEA®S0 [L-+&E [ 02 | w—r&# [BE 918 H=1200)
JETER ER G ML Bl /B =
PEAIE DR L 2 |FE = (ARENE X JBA - B X LTER) + RElE X BEh X (RIEIEE + SIEE + MEEE))
1.376 m3 = ((1.500 % 0.460 — 0.002) * 2.000) + (I.500 * 0.460 % (0.000 + 0.000 + 0.000))
By e 1 |&ERE R = WElE X BA X (ETHER + RIEE + AEE + MEER)
(hm ) 0.150 m3 = 1.500 * 0.050 * (2.000 + 0.000 + 0.000 + 0.000)
TR ] 1B = SRR UE 1R
GBS ) 0.150 m3 = 0. 150
7% LY@ 1 [BE = meEUE LR
(FRHI) 1. 740 m3 = 1.740
RN T e e
(Hii) 2,486 m3 - 2. 486
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T T % it B F (

Bl

BRETEEEES . 17000000

BN R )

[ T@%= | 03 | TI#@%&% [[AHIHPPEA®S0 L—+&S [ 03 | w—r&# [EE %% H=1200)
JETER ER G ML Bl /B =
AEE D)W 1 &= (ETEE + BBV IEER + TR + fEIER) + (FFREIE - @) < FFmR&EITE)) X BRI
86.400 m = ((43.200 + 0.000 + 0.000 + 0.000) + ((0.600 — 0.600) * 0.000)) * 2.000
AEEEH 1 |HE = HEE X (ETIER + KR + sUiiER + fEER)
25.920 m2 = 0.600 * (43.200 + 0.000 + 0.000 + 0. 000)
S 1|5 = R X B2 X (LTHEE + RAUER + AMIER + WMEER)
15.033 m3 = 0.600 * 0.580 % (43.200 + 0.000 + 0.000 + 0.000)
HEH| 2 |FaE = BEHIE X BA X (ETIER + RIBEE + AEE + MEER)
17.625 m3 = 0.600 * 0.680 % (43.200 + 0.000 + 0.000 + 0.000)
AEAEIE IH 1 |FE = iHE X (ETIER + RIER + AIER + fEER)
25.920 m2 = 0.600 * (43.200 + 0.000 + 0.000 + 0.000)
HAREIR 1 |EE = HEE X (ETIER + KR + sUiiER + fEER)
25.920 m2 = 0.600 * (43.200 + 0.000 + 0.000 + 0. 000)
HAREIR 2 HE = EHE X (ETER + RIER + 3URER + BEER)
25.920 m2 = 0.600 * (43.200 + 0.000 + 0.000 + 0.000)
PEHIE D R L 1 |HE = HHE X JEA X (TR + RIBEE + ER + MEER)
15.033 m3 = 0.600 * 0.530 % (43.200 + 0.000 + 0.000 + 0.000)
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T I % E Bt E E (f B % )
RETEEEES : 17000000 #0512 ]
TEES | 03 | TI@&#M  |[[AFIHPPEAS50 - &S [ 03 | J—Fr&# [EiE #HE&(H=1200)
JETER El N B S F & =
PEAIE DR L 2 |FE = (ARENE X JBA - B X LTER) + RElE X BEh X (RIEIEE + SIEE + MEEE))
7.948 m3 = ((0.600 * 0.310 - 0.002) * 43.200) + (0.600 * 0.310 % (0.000 + 0.000 + 0.000))
By e 1 |&ERE R = WElE X BA X (ETHER + RIEE + AEE + MEER)
CES 1.296 m3 = 0.600 * 0.050 * (43.200 + 0.000 + 0.000 + 0.000)
7% L5y 8 U [ = giimi s g Lk
GBS ) 1.296 m3 = 1.296
7 LAy 8 1 [H& = meEUs LE
(FRHI) 15.033 m3 = 15. 033
7% L5y 8 2 | = mEEYE LR
(Jitin) 17.625 m3 = 17. 625
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T I % E Bt E E (f & x )
RETEEEES © 17000000
[ T@%= | 03 | TI#@%&% [[AHIHPPEA®S0 [L-+&E [ o4 | W—r&# [EE &= H=1200)
JETER ER G ML Bl /B =
AEE D)W 1 &= (ETEE + BBV IEER + TR + fEIER) + (FFREIE - @) < FFmR&EITE)) X BRI
79.800 m = ((17.900 + 0.000 + 0.000 + 22.000) + ((0.600 — 0.600) * 0.000)) * 2. 000
AEEEH 1 |HE = HEE X (ETIER + KR + sUiiER + fEER)
23.940 m2 = 0.600 * (17.900 + 0.000 + 0.000 + 22.000)
S 1|5 = AR X B2 X (LTHEE + RIUER + AMIER + WMEER)
19.391 m3 = 0.600 * 0.810 % (17.900 + 0.000 + 0.000 + 22.000)
HEH| 2 |FE = (GRHIE X BA - Fmd) X (LTEE + MEER)) + (RElE X BEdA X (RIBEE + AEER))
8.817 m3 = ((0.600 * 0.370 — 0.001) * (17.900 + 22.000)) + (0.600 * 0.370 * (0.000 + 0.000))
AEAEIE IH 1 |FE = iHE X (ETIER + RIER + AIER + fEER)
23.940 m2 = 0.600 * (17.900 + 0.000 + 0.000 + 22.000)
HAREIR 1 |HE = BEE X (ETER + SR + 3UiiER + EIER)
23.940 m2 = 0.600 * (17.900 + 0.000 + 0.000 + 22.000)
HAREIR 2 HE = EHE X (ETER + RIER + 3URER + BEER)
23.940 m2 = 0.600 * (17.900 + 0.000 + 0.000 + 22.000)
PEHIE D R L 1 |HE = HHE X JEA X (ETERE + KR + 3UiER + EIER)
19.391 m3 = 0.600 * 0.810 % (17.900 + 0.000 + 0.000 + 22.000)
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T I % E Bt E E (f B % )
RETEEEES : 17000000 #0512 ]
[ T@%= | 03 | TI#@%&% [[AHIHPPEA®S0 [L-+&E [ o4 | W—r&# [EE &= H=1200)
JETER ER G ML Bl /B =
TR 1 |GREmER: = WEE X B X (LTHER + AIIEE + AIER + MEER)
CESE) 1.197 m3 = 0.600 * 0.050 * (17.900 + 0.000 + 0.000 + 22.000)
7% LY@ 1 [cE = aEmns e La
(GBS ) 1.197 m3 = 1.197
TR ] 1 [BcE = meE U8 &
(FRHI) 19.391 m3 = 19.391
7% LY@ o [BE = mEEE LR
(FRHI) 8.817 m3 = 8.817
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T I % E Bt E E (f & x )
RETEEEES © 17000000
[ T@%= | 03 | TI#@%&% [[AHIHPPEA®S0 L—+&S [ o5 | L—r2#% [&HiE
JETER ER G ML Bl /B =
AEE D)W 1 &= (ETEE + BBV IEER + TR + fEIER) + (FFREIE - @) < FFmR&EITE)) X BRI
4.000 m = ((2.000 + 0.000 + 0.000 + 0.000) + ((L.000 — 1.000) % 0.000)) * 2.000
AEEEH 1 |HE = HEE X (ETIER + KR + sUiiER + fEER)
2.000 m2 = 1.000 * (2.000 + 0.000 + 0.000 + 0.000)
P H| 1 |FdE = HE X BEA X (ETIER + RIER + RAIIER + MEIER)
2.500 m3 = 1.000 * 1.250 * (2.000 + 0.000 + 0.000 + 0.000)
R IR 1 |EE = HEE X (ETIER + KR + sUiiER + fEER)
2.000 m2 = 1.000 * (2.000 + 0.000 + 0.000 + 0.000)
HARIEIR 1 |FE = iHE X (ETIER + RIER + AIER + fEER)
2.000 m2 = 1.000 * (2.000 + 0.000 + 0.000 + 0.000)
HAREIR 2 |FE = BEHIE X (ETEE + RIEEE + RAEE + fMEER)
2.000 m2 = 1.000 * (2.000 + 0.000 + 0.000 + 0.000)
PEAIE DR L 1 |FdE = HE X BEA X (ETIER + RIER + TR + WEIER)
1.360 m3 = 1.000 * 0.680 % (2.000 + 0.000 + 0.000 + 0.000)
PEHIE D R L 2 |FE = BHIE X BA X (ETIERE + RIEEE + SIBEE + MEER)
0.400 m3 = 1.000 * 0.200 * (2.000 + 0.000 + 0.000 + 0.000)
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T I % E Bt E E (f B % )
RETEEEES : 17000000 #0512 ]
[ T@%= | 03 | TI#@%&% [[AHIHPPEA®S0 L—+&S [ o5 | L—r2#% [&HiE

JETER ER G ML Bl /B =

ALy 1 &R EESE = BEE X BA X (ETIEE + KRIEE + REE + fEIER)

(i m ) 0.100 m3 = 1.000 * 0.050 * (2.000 + 0.000 + 0.000 + 0.000)

By e 1 | = SEEEEIE e LR

(GBS ) 0.100 m3 = 0.100

Ay 1 |BE = WHIE LS L&
(Hii) 2.500 m3 = 2.500
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T I % E f E & (8t &8 % )
BEtEEEES . 17000000
| TRES | 04 | IR&H |[[ARIBKE [L-rES [ or | w—ra® [B2#E #HmE
e f EH I A
S G 1 [HE = (LTEE + 2BV EE + RIEE + MEER) + (GEFREIE - Slmyiig) < MFmEi) < ok
8.400 m = ((4.200 + 0.000 + 0.000 + 0.000) + ((0.600 — 0.600) * 0.000)) * 2.000
S 1 [ = mlE X (LTHEE + RIEE + AIEE + HEER)
2.520 m2 = 0.600 * (4.200 + 0.000 + 0.000 + 0.000)
$ig 1) 1 [ = mllE X B X (LTEE + AER + ARER + WEER)
1.461 m3 = 0.600 * 0.580 * (4.200 + 0.000 + 0.000 + 0.000)
$i 1) o |lE = mEE X BEa X (LTER + /LR + RHEE + MEER)
1.612 m3 = 0.600 * 0.640 * (4.200 + 0.000 + 0.000 + 0.000)
A IH 1 [k = mlle X (LTHEE + RIEE + RIEE + HEER)
2.520 m2 = 0.600 * (4.200 + 0.000 + 0.000 + 0.000)
AL 1A 1 [ = mlE X (LTHEE + RIEE + AEE + HEER)
2.520 m2 = 0.600 * (4.200 + 0.000 + 0.000 + 0.000)
AL 2 |lE = mEiE X (LTEE + 2IER + AMIER + WEER)
2.520 m2 = 0.600 * (4.200 + 0.000 + 0.000 + 0.000)
JEHELD R L 1 [ = wmllE X BEh X (LTHEE + AER + AMER + WEER)
1.461 m3 = 0.600 * 0.580 * (4.200 + 0.000 + 0.000 + 0.000)
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T I % E f E & (8t &8 % )
LEHEFEES . 17000000[ 4 1EEEE]
| TRES | 04 | IR&H |[[ARIBKE [L-rES [ or | w—ra® [B2#E #HmE
e f EH I A
JEHELD R L 2 |ME = e X BA X (LTHER + /LR + RHEE + MEER)
0.680 m3 = 0.600 * 0.270 * (4.200 + 0.000 + 0.000 + 0.000)
7% a5y 1 [BEmpiscR = WEE X Eh X (ETER + /MERE + AHEE + MEER)
(GhZEHRED) 0.126 m3 = 0.600 * 0.050 * (4.200 + 0.000 + 0.000 + 0.000)
&5 1 [k = asmss e L&
CES 0.126 m3 = 0.126
7% a5y 1 [HE = mAEUE LR
i) 1.461 m3 = 1. 461
&5 2 [BE = mEEE LR
(HEH) 1.612 m3 = 1.612
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T I % E f E & (8t &8 % )
BEtEEEES . 17000000
| TRES | 04 | IR&H |[[ARIBKE [L-rES [ o2 | w—ra® |hiE #%
e f EH I A
S G 1 [HE = (LTEE + 2BV EE + RIEE + MEER) + (GEFREIE - Slmyiig) < MFmEi) < ok
26.400 m = ((13.200 + 0.000 + 0.000 + 0.000) + ((0.600 — 0.600) * 0.000)) * 2.000
S 1 [ = mlE X (LTHEE + RIEE + AIEE + HEER)
7.920 m2 = 0.600 * (13.200 + 0.000 + 0.000 + 0.000)
$ig 1) 1 [ = mllE X B X (LTEE + AER + ARER + WEER)
5.623 m3 = 0.600 * 0.710 * (13.200 + 0.000 + 0.000 + 0.000)
$i 1) o |lE = mEE X BEa X (LTER + /LR + RHEE + MEER)
4.039 m3 = 0.600 * 0.510 * (13.200 + 0.000 + 0.000 + 0.000)
A IH 1 [k = mlle X (LTHEE + RIEE + RIEE + HEER)
7.920 m2 = 0.600 * (13.200 + 0.000 + 0.000 + 0.000)
AL 1A 1 [ = mlE X (LTHEE + RIEE + AEE + HEER)
7.920 m2 = 0.600 * (13.200 + 0.000 + 0.000 + 0.000)
AL 2 |lE = mEiE X (LTEE + 2IER + AMIER + WEER)
7.920 m2 = 0.600 * (13.200 + 0.000 + 0.000 + 0.000)
JEHELD R L 1 [ = wmllE X BEh X (LTHEE + AER + AMER + WEER)
5.623 m3 = 0.600 * 0.710 * (13.200 + 0.000 + 0.000 + 0.000)
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T I % E f E & (8t &8 % )
LEHEFEES . 17000000[ 4 1EEEE]
| TRES | 04 | IR&H |[[ARIBKE [L-rES [ o2 | w—ra® |hiE #%
e f EH I A
JEHELD R L 2 |ME = e X BA X (LTHER + /LR + RHEE + MEER)
2.138 m3 = 0.600 * 0.270 * (13.200 + 0.000 + 0.000 + 0.000)
7% a5y 1 [BEmpiscR = WEE X Eh X (ETER + /MERE + AHEE + MEER)
(GhZEHRED) 0.396 m3 = 0.600 * 0.050 * (13.200 + 0.000 + 0.000 + 0.000)
&5 1 [k = asmss e L&
CES 0.396 m3 = 0.396
7% a5y 1 [HE = mAEUE LR
(HEH) 5.623 m3 = 5.623
&5 2 [BE = mEEE LR
(HEH) 4.039 m3 = 4.039
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T T H EHEE (& %)
BRETEEEES . 17000000 L #E&EHE]
| TEES | 04 | TEAEH  |[KRIEKE I —+&ES | 03 [ W—taH [Ein y&
JE T =N i S, W V| SR S
S 1 [ = (BTHER + RIEVIER + RINER + fUER) + (ETIRANG - S@imElig) < k@) X Gk
3.000 m = ((1.500 + 0.000 + 0.000 + 0.000) + ((1.000 - 1.000) * 0.000)) * 2.000
SR 1 [ = ENE X AR X (ETIER + RRER + RIRER + fRER)
0.150 m3 = 1.000 * 0.100 * (1.500 + 0.000 + 0.000 + 0.000)
I 1 (B = ElE X 24 X (ETIER + RRIER + RIRER + fEIER)
1.350 m3 = 1.000 * 0.900 % (1.500 + 0.000 + 0.000 + 0.000)
SR I 1 [ = ENE X JEA X (ETIER + RIRER + RIBER + fEIER)
0.150 m3 = 1.000 * 0.100 * (1.500 + 0.000 + 0.000 + 0.000)
AR IH 1 [Hd = EE X (ETHER + RIER + SURIER + fEIER)
1.500 m2 = 1.000 * (1.500 + 0.000 + 0.000 + 0.000)
TREBE D R L 1 [ = WENE X JEA X (ETIER + RIRER + RIBER + fEIER)
1. 125 m3 = 1.000 * 0.750 * (1.500 + 0.000 + 0.000 + 0.000)
Ay e 1 (B = BHRSREIE L R
CLESEIED) 0.150 m3 = 0.150
A e 1 (B = REIE e R
G 1. 350 m3 = 1.350
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T T H EHEE (& %)
BRETEEEES . 17000000 L #E&EHE]
| TEES | 04 | TEAEH  |[KRIEKE I —+&ES [ 04 [ L—t&H |Eih #
JE T =N i S, W V| SR S
S 1 [ = (BTHER + RIEVIER + RINER + fUER) + (ETIRANG - S@imElig) < k@) X Gk
14.000 m = ((7.000 + 0.000 + 0.000 + 0.000) + ((0.600 - 0.600) * 0.000)) * 2.000
SR 1 [ = ENE X AR X (ETIER + RRER + RIRER + fRER)
0.420 m3 = 0.600 * 0.100 * (7.000 + 0.000 + 0.000 + 0.000)
I 1 (B = ElE X 24 X (ETIER + RRIER + RIRER + fEIER)
1.344 m3 = 0.600 * 0.320 % (7.000 + 0.000 + 0.000 + 0.000)
SR I 1 [ = ENE X JEA X (ETIER + RIRER + RIBER + fEIER)
0.420 m3 = 0.600 * 0.100 * (7.000 + 0.000 + 0.000 + 0.000)
AR IH 1 [Hd = EE X (ETHER + RIER + SURIER + fEIER)
4.200 m2 = 0.600 * (7.000 + 0.000 + 0.000 + 0.000)
TREBE D R L 1 [ = WENE X JEA X (ETIER + RIRER + RIBER + fEIER)
0.714 m3 = 0.600 * 0.170 * (7.000 + 0.000 + 0.000 + 0.000)
Ay e 1 (B = BHRSREIE L R
CLESEIED) 0.420 m3 = 0.420
A e 1 (B = REIE e R
G 1.344 m3 = 1.344
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T I # 2 5 & & it E x )
LEHEFEES . 17000000[ 4 1EEEE]
| TRES | 05 | ITR&W |[SmEAER [L-rES [ on | w—r&a% |2#E K48
e f EH I A
el 1 = AREINmERE - A i
7/13 000 m2 = 743.000 — 0. 000
$i 1) 1 = (AMEHER - MEREER) X B4
37. 150 m3 = (743.000 — 0.000) * 0.050
Sl A H 1 [BE = ARG - A
743.000 m2 = 743.000 — 0. 000
SEEAE IH 2 B = AEIHER - iR

743. 000 m2 = 743.000 - 0. 000

By 1 |SEEmAEE: = CREIHmR - MRREER X B
CiE S ) 37.150 m3 = (743.000 - 0.000) * 0.050
B Ay e 1 FE = HEEREE e E
(i A1) 37.150 m3 = 37. 150
A E 1 |[&E = i UE LR
(HEH1) 37.150 m3 = 37. 150
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T T H EHEE it B & )
BREHEEEES 17000000
| TEES | o5 | I@EAW  [@EAxEs I —+&ES [ 02 [ N—t&a# |miE A#EIH
JE R ot % O #m o F O H K
A U [BE = AHIHERE - i s
154. 000 m2 = 154.000 — 0. 000
SR 1 [BE = AEIHER - A

154. 000 m2 = 154. 000 — 0. 000

s e 1 SRR = OMEIRmR - (RS X 2R
CiE S ) 7.700 m3 = (154.000 — 0.000) * 0.050

s e 1 (B = EHESIREIEE st

(FHiE A1) 7.700 m3 = 7.700
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R1. TR {EIER

KIRDIFE-~Ti& i e = x x x
R R . g(
1 1 51 i 1 » ) b
# m & & A = &
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| o & E # i
N & Y % g 1 e
& 5] = =40} F S # = &
= O) @ ® @ ® ® @ ®
@/D*2 | B2+ ®/@
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